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SH3F4A 158 BFEFENE (4B ~6A5) 270,000 0/ 270,000, 270,000
SM3E4F158 |IREILHEL 270,000 0| 270,000
SH3FE6A 148 | DEHEBAE 1,100| 268,900 0/ 268900
SHBETA1B|OREEEE 46,800| 222,100 0| 222,100
FHIETH 158 BB EHE(TA~9AD) 270,000 222100/ 270,000/ 492,100
SM3ETAI58 |IREILHEL 492,100 0| 492,100
[HIFEI0A 158 | BIFEEHEIOA~1285) 270,000 492,100, 270,000, 762,100
SMIEI108158 | IREILHEL 762,100 0| 762,100
SHM3E11 298 DAEKRE 181,920| 580,180 0/ 580,180
SH3E12H208 | DEHBAE 1,100[ 579,080 0| 579,080
SH3E12H30H OERFEEE 19,800| 559,280 0/ 559,280
SHAFE1R 148 BB ESHE (1A ~3AH) 270,000 559,280/ 270,000/ 829,280
SH4E1H148 |IBREHLHL 829,280 0/ 829,280
SM4E3IF228 | QWHEE 167,900| 661,380 0/ 661,380
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